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The - ﬁgures in the margin indicate full marks
for the questlons

Answer either in English or in Assamese

?@WWWWI

1. Answer the followmg' questlops: : 1x10=10 -~
COR eDR BeT I 3 | :
(1) A={x:2x+7=0}
~ B= {x X is an odd number<7}

- B={x:x @5t sy Wyt < 7}
- Find' ANB. ANB R =1
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(i) Define a diagonal matrix. o o
- R e e B
(iii) If (M) 12C, = C_, what is the value of x ?
TR X-T W R R e |
(iv) Evaluate : (i ﬁ‘ﬁ Eall
" log, 40%. .

. (v) If rows are ‘chénged into columns and

columns into rows, the value of 3 determinant
remains unchanged. (Write true -or false).

AR I @@ A (e @ ey
e | ) S
- (vi) .Chodée"tlle correét ’éﬁéwer c

v T Fdfor 1 ¢

The slope of a line passing ﬂuough the ﬁoinfs -

(5, =3) and (3, 0)

(5, =3) =% (3; 0) R et e

m‘i@ti’i

3 3
(a)_—?. : (b)E.
| 2 o
© -3 | (d) -i—
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. (vn) Evaluate = [efm 1)
.
I Lo
X

(v111) Fill in the blank (*Nﬁ’t ‘313 P FM) . |

— (TC) = i where X }denotes
the volume of output.

e X-4 t‘a‘vrrfﬁ— mﬁa orfiﬂms @E@

< = (m) =

(x) Define objectlve function' assoclated with
linear programmmg o -

Wm«a%ﬁmmw’awm‘
Rt -

2. Answer the following questions:  2x5=10
| SN #NPDN ey f ¢

() Find 10th term of the following series :
O AT Wi oiweet fovdl e
39 _6’ ]‘29 —24, secsecsnens
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(ii) Evaluate : (W= ffa =) '

11 .y+z x|
1 z+x vy
1 x+y z

- (iii) Does the line 3x ) A 27= 0 passes through
" the point (4, —3)? - | |

© 3x-5y-27= O@%ﬂwm —3)%%
ﬂﬁ(ﬂ?ﬂ??

(iv) If the third and seventh terms of an AP are

—2 and 10 respectively, find the first term.

1% 10 T TGN 8L o Refwr 11

(-5 4 7]

W) If @) A= 3 61
Be 8 -2 —6]
74 0

Find (Refs 391) 5B-2A. |
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. Answer the followmg questlons : 5x4=20 .

(a)Ifa,b cbethepth qthandrthterm
respectively of an A.P, then prove that.

ﬁabcmaﬁﬂmmﬁﬁap@ qe¥

vmmmmWWM“[

a(q- r)+b(r p)+C(p Q) 0-_'
Or/ﬂﬁ?ﬂ

Fmd sum to 7 terms of the followmg series :
_@maﬁmﬁmwﬂ@ammmﬁﬁawé
4+44+444+ .......ccecc.

- (b) ShOW-_' that (¢3Sl ). .
-a’> ab ac o
ab --b®> . bc |=4a’b%? .

ac  bc —¢c?

| © Or/=izAt
If (M) ‘ o
A={a b, cd e}
B ={b, c, e, f}.
~C={a,ce g, h}
Find (ﬁ‘ﬁ M) - (i) Af'\(B C) :
(i) A-B)N(A-C)
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“(c) A sum of money mvested at compo
interest amounts to Rs 2916 at the end .0
| two years and to Rs. 3149 28 at the end of
three years. Fmd the sum and the rate of
compound mterest ‘

Wﬁﬁ@@mmﬂﬁﬂﬁﬂﬂww '

TIET I Rs. 2916@1331%731@‘:56

IS Rs. 314928?@!1@1@@1@&@% -

a@aﬁaﬁcﬁ bl
'Or/ﬂﬁf?n;

Biplab borrows Rs. 20,000 at 4% compound

‘ interest and agrees to. pay both the prmclpal
+ and interest in. 10 equal annual mstahnents
at; the end of each year. Find the value of
each mstalment Given (1.04)1° = 0, 6761. |

ﬁmasﬁ4%mf%mmRs 20,000
Wwwaﬁquww(w)m

W%@Wﬁﬁﬁmlm

W%@am%mi’aﬁ‘ﬁasmﬁmw

(1.04y° = 0.6761
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® (d) If () A=[a .d] and (1) 1=[‘ 0]..

01

show that (cl?a[e?n C?I)

~@@+d) A-(bc-ad) I= 0
Or/m

: ,If (qﬁ) A= (g 1) find x andy. such. that

(wayam R 1 TICS)

A+ xI=yA

. matrix mversnon method

Or/?ﬂ%T
Prove that (2w T )
. nCr+ nCr-; = nTiC,, .

Solve the following system of equation by
7

ﬁwamw
3x+y+2z—3.. B
‘2x—3y—z=,—3 '
x+2y+z=4"
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| Or/=izt -
Show that (C73831 ()

a+b+2c a b
c b+c+2a b
¢ a . c+a+2b
=2@+b+c)

. (b) Find 9th term of the e_xp'a,nsion. given below :
- | L 3

) 1Y
2X——
( ) x2)~1'

5. (a) Establish equation of | a line in the form

(b) Find the equatlon of the line which passes
' ,through the pomt (2, 3) and sum of its
intercepts on the axes is 10. 5

«qelE {41 (2, 3)ﬁﬂfﬁwmmw'
TR @S TR (AR @ 10 2
@ISR e e w0
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- @ - Or/am
A man mvests RS. 10 OOO m a busmess and
~.earns Rs. 800 in a year An investment of
Rs. 20,000 would yield an income of
Rs. 2300 per year. Find the linear relationship
' between mvestment ) and income (y). What
would be the annual mcome on an mvestment
of Rs. 12000 ? '
«QWWW 10, OOOW ﬂig?n? 800 B
Belie $ET 1 20,000 T RGN F/Res 2300
Bl Tl 7| RAGI (x) % TR (y)3
e wRe e @[efs w<1012,000 S
Rzt <R e o fowm 29e

6o @OEE® 3

| f(x):i;x., prove ‘_that“(‘zmbl F Q) |

f(l,___x)-_'-x..
A l+x_} T |
.tii) Evaluate : (¥ ﬁcﬁq asq]) : | 5

‘x—l

hm .
Jsx+1 _J5x - 1
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- OrE=
The total cost function c(x) of producing X
items is given by ‘

.'<xﬁmﬁaﬁﬁmmmwﬁmiﬁ

c(x) <1500 + 5x when (&feat) 0< x <500
= 3000+4x when (C?lf%fﬂ) 500 <x
<2000

~ Find the cost of producihg ' _
(a) 450 items and (b) 1200 1tems

@ 450 =1 (b) 1200 5 Besivm Ty ﬁ‘-ﬁ
| : -

(b) A steel plant produces X tons of steel per
week at a total cost of

| Rs.(—'g’——7x2+lllx+50)

Find the output level at which the marginal
cost attains its minimum. 5

<51 Sl o '(%—47x2+111x+50) BPICS .
x B Sl S AARS B )

| ARSIR BelS @i w e =W, OR
. BeoimTE ’fﬁﬂi‘fﬁ‘ﬁﬁﬁﬂ |
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. - ' o Or/ﬂ%\‘

If (Tlﬁ) y= ax+£'

show that (cwem 3 -

2d y ( dy )
—+2|x—-y|=0
w7

7. Infegrate any two of the following T 2><2=4
oo R I EB'R wawm R W

@) Ilogx

(i) I‘ev"‘"‘A dx

3x+4 ..
(111) J'3x +8x+7d*~ -

@) [Vxa+avdax
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- 8.." Solve the foﬂowing LPP gréphically. B @
| OoR (XRF AT FAFVICO! (F1XF Q1T I 4 2
Minimize (R Rt 1)

z' = 20x + lOy

- subject to (I9 slTC“*IC"F)
x+2y<40
A4x+3y260

i 3x+y230_
-.x,y>0

-
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